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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

WIong answer.

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the

question, the English Version will be treated as standard.
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Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.I.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.
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1. Which of thie following)fs fiot a subject of the 1. FrafeiRae § & du &) @1 fvg 78 &7
Union List?
(1) Taxes on income other than 1) FH — 7@ ¥ A I W Hv
agricultural income 2 e
(2) Corporation tax (3) BN — M W BN
(3} Taxes on agricultural income @) FR G A B AR B SRRER
(4) Duties in respect of succession to P W ¥ I
property other than agricultural land
2. According to Erik Frikson the ‘ego’ helpsin- 2. ;ﬁfﬁ TRIET & g @ o 9R 'S 9806
(1) Acquiring attitudes and skifls 1) FgRwEl o s ® de |
(2) Acquiring intetligence 2 gfgaar o wifig |
(3 Acquiring conflict (3) ©g o uitg A
(4) Acquiring visual clarity (4) TTF Tl B Wi :
3. Find out the correct statements about ‘Rights’- 3. 3EPRI ® IR A I AT Bifey —
(i) Right assign statutory obligations to (i) dFPR 5T P FTE @H WD G
the state to act in certain ways. &R B B dEnfe e dida g
(i) Rights also include, what the state () R § I8 9fv ff ofe & &
should not do. T P T TE T B |
(iti) Laws made by the state can be invoked (iii) 59 gRT (AT ST geqdd @R &
by force. TP B |
(iv) Along with the state, social acceptance (v) PR & fom =@ & W &
is also necessary for rights IS wiprar 9 smaeas 8|
Code - T —
@ Onlyi, ii,iv (1) ¥ i, i, iv
(2) Onlyi,ii,iii (2) dad i, ii, iii
3 i, ii, iii, iv @) i, ii, iii, iv
(@) Onlyi, iii, iv (4) DI i, i, iv
4. Which of the following party was granted 4. [F=ifaRag & 9 69 s & wRa & Fai=F
recognition as State Party on June 7t 2019 by IR ERT 7 S[4, 2019 Bl T S B AT
Election Commission of India? USH B Te?
(1). Rastriya Janata Party Q) TS SEar ol
(2) Rashtriya Loktantrik Party Q) ST dbdiRe gl
(3) Bharat Vahini Party }) ¥RT Gy g
(4) Bahujan Samaj Party @) g T qret
5. Who said “The traditional theory of 5. "Wl & [9OR 9 & o0 shfywara @i
sovereignty is a venerable superstition”? e 3 90 I € —
(1) H.Laski (1) T D
(2) R.M. Maciver (2) IR TH. YPprsae
(3) J.N. Figgis ) <. wE i
4) A.D. Lindsay @ u 9 Riey
12- & Page 2 of 32
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6. Which of the following is not included in the 6. = ¥ ¥ gar Y e gl § mbe T8
Directive Principles of the policy? 2?
(1) Freedom of speech & expression (1) 9% wq AT # wa=dEr
(@) Uniform civil code (2) \EE GRS wfgen
(3) Prohibition of alcohol (3) wETE ey
(4) Promotion of cottage industries @ wER SN BT g
7. Who of the following considered ‘Republic’ of 7. fimifha % & fhu wier o ‘Rufas’ &1
Plato, the best book which is written on R w forar mar waipT I SEr 87
education? (1 "
(1) Marx @ w4
(2) Rousseau (3) ToM
(3) Bentham @ e
(4) Gandhi
8. During the tenure of which of the following 8. f=faRea ¥ & frw WA @ s A
" Prime Minister, The Representation of the 1G5 16 A T s U I 1) S| 1T
People Act, 1951 was inserted in the Ninth sfafam, 1951 sra~erifT fear a7
Schedule of the Constitution? (1) eorene |a
(1) Gulzari Lal Nanda @ <Ry T
(2) Indira Gandhi @) TR S
(3) Morarji Dgsai @ . & =R <
(4) P.V.Narasimha Rao
9. Read the following statements carefully and 9. oI fEFwwr g@ 2018 & fawa
choose the correct option regarding ‘Rajasthan Freafafad sl & egm | ufey den wEl
Vidhan Sabha Elections 2018 - BT GEIMT — 3
(1) The total voting turnout was 62.50%. (1) 7 F TIEH 62.50% B |
(2) Maximum voting percentage was in () I ST qaaE ke SR frel
Jaipur district. BT &7 |
(3) Minimum voting percentage was in (3) Y B TGS TR SeRR Rl
Jaisalmer district. T a7 |
(4) Voting percentage of women was more ; - e
than men in the entire state. @ W. i e
ufdera goul | «iffe @]
10. Which country’s visit was named by Nehru as  10. 9% 9 f&5d <9 & 9@ & @iel A& &
“Voyage of Discovery’? T frar or?
(1) The Soviet Union ' _
1) <ifdgg b9
(2) America 22; 3
(3) Egypt 3 =
(4) China @ ==
12- Page 3 0f 32
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on difference - blindness.

11. Match the following ~ -« 11. F=feRag o1 e sife —
- . 3~ 1 & -1
Ijlst I . List -.II A fiex @ ; ¥
(A) Printer @) Out?ut device used TGS \J’qq’wlg
to display (B) AMficY () PR WH W
(B) Monitor (i) Input device used to q\Lge,u BT YT TG
select and display TG %_g,’ qgadq
(C) Keyboard (iii) Output device to FRECISRERN
make copies (€ & —dS (i) TR W uREl g¥ =
. . . Tgdd  3IMSCYc
(D) LightPen (iv) Inputdevice STHROT
A B C D (D) @Ec = (iv) STYE SUGI
1) @ ) @) @iv) A B C D
@ G ® @ G ® G @ @
@ @ O @ G i@ @ @
@ O @ G @ oo G|
@ %i) (i) (i) (i)
12. Which one of the following statement is 12,7 ¥ ol e wUA eyl
incorrect? 27 ‘ .
(1) Parlianient has the power to make laws (1) <9g B 9RG & HYU XeErs a
for the whole of the territory of India, Sq% Bt wrT @ forg fafy a7 @
any part thereof. @ R @ | . ,
(2) The state legislature can make laws for A AR IS L
the whole or any part of the state. ik %la:m arr @ fag fafr o
(3) Parliament has the power to make KTl < a
extra - territorial legislation. ) Hﬁﬁq :?t;i%ﬂ:&blmm EE NIy
(4) Rajya Sabha can declare any subject in 5
the state list to be of national interest ) W””' 1&\)' S, WE reit E? %2_\'%
by resolution of 2/3rd of its total R S L
strength. 'ﬂib_cﬁ oy
13. Multicultural perspective on Rights does not 13. PRI BT TEACPIAD E{W T8 WIPR
assume that - Fail B, b —
(1) “Uniformity of treatment’ is necessary (1) Tfde §9 T & o g6 o«
for actnal equality. FPR/R AP T |
(2) Treatment of genuine equality with all 2) i AER®T © Al UHEitkE FHEar
citizens is necessary. P FGER AELIF ¢ |
(3) Accommodation of differences among (3) afds wHEET © T w9 B
various groups of the society is farder I ® Wg IR @
necessary for actual equality. RIS AT & |
(4) Idea of Universal Citizenship is based @ <Odife TERed o R 39

— ST W mEnlRa g1

14. Inthe concept attainment model at which phase
of syntax, students generate examples?

14.

Huegy wity yfome (e Fely ufoas) @
fotaq (@eg — faweiwwr) @ A e

1) Presentation of data kN ﬁ?-fﬂ‘?ﬁ BFIEW” T foior B €7
N (1) Sifewsi T wRIRERu
(2) Identification of concept (2 FE B UgEE
(3) Analysis of thinking strategies 3 fovF wpeemel  (oEiE) B
(4) Testing attainment of the concept @) Fug WikT BT ThET
12- & Page 4 of 32
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15.

16.

17.

18.

19.

20.

A teacher is trying to direct his / her student’s
energy into useful and socially approved
channels of expression. This is called -

(1) Emotional balance
(2) Emotional control
(3) Emotional insulation
(4) Emotional tolerance

Which one of the following pair is not correctly
matched?
(1) Ethics of Chanakya - K. M. Agrawal
(2)- ‘Kautilya’s Concept of Diplomacy : a
New Interpretation - Bharati Mukherjee
(3) Kautilyan Jurisprudence - V. K. Gupta
(4) “Kautilya Arthashastra : An Appraisal”
- Pushpendra Kumar
Henry 1. Hyde Act is related to which of the

following?
(1) India - Russia strategic deal

(2) India - USA civil nuclear deal
'(3) India - China border agreement
(4) India- Bangladesh border trade deal

Who discussed three elements : factual, casual
and valuational in political theory?
(1) Karl Marx
(2) David Easton
(3) Karl Popper
(4) Sabine

With which Treaty did the European Union
replace the European Community?

(1) Westphalia Treaty

(2) Maastricht Treaty

(3) Versailles Treaty

(4) British Treaty

What is the correct chronological order of the
following events related to Ambedkar’s life?
I Publication’of Annihilation of Caste
II' Mahad Satyagraha
II1 Publication of Mooknayak
IV  Establishment of Bahishkrit Hitakarini
Sabha
Code -
) LILILIV ’
2) 0OL1V,ILI
3 IV, 0,11
4 IIV,ILT

15,

17.

18.

20.

AR 39y fqenfefal &1 dames et
ﬁ thﬁ AR TIfee A/ 9rgE g
Il BY HEIford B BT VT PR & |
IE FHEaTl & —

@) <IHE A

frifeed # & @i g a8 gafor w8 27

1) i 3 =R — &, . S

2) Slice sie 3o e : T =y
© geieT — WG sl

@) icw REEE — A 3. IO
@) “oifecy i @ T eilisle” —
HUR

2

afaRag § § ®19 899 . T1ES Toe 9

w87

(1) bR — &9 AMRE AHsiar

() YRA — URPT AAFING TRA]
wsiiar

3) 9Rd — B9 dE F9siar

@) ¥R — IS WA AR T

Tomiae Rigra § §9 9@l @ qeurs,

FROTAS AR TS o Fai e e

(1) P AR

2) <fIs s=A

(3) @Iel U

4) <EIEA

WA F9 F WU FEE F WH 5
< | foran?
(1) dEwior o w9F

(2) wiRg= G

(3) T Yy

@ fafew €f ‘ \
ITHR P ST W eI T TeRil B ae
PIeIRT 9T &7

I gFRRoeH 3T orRe &7 TaHrM

I +zls §auE

I ¥Yoad I PR

IV 9fEspd RaeiRell w91 @ g
'@ —

(1) LILIULIV

2 UILIV,ILI

3. IV,ILILI

@4 ILIV,IOLI
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21. Which one of the following model is not 21. f=ifda ¥ | Bar wkmM e SEA gRT
propounded by Robert Dahi? greaifed w@ far Ty 27

(1) Price model Q) I PGEIG

(2) Bargaining model (2) el ufewE

3 P013{a.rcl?y model (3) dgaad gREE

4) Equilibrium model (4) \FITGRT YREE

22. Read the following statements about India’s 22. ARG @I faqw R & wed § -ﬁﬁmﬂ
Foreign Policy carefully - T B %zrﬁqg‘ra? qieg —

I  During the Cold War years, India 1 dags EF; e H YRT ¥ G '{13’[ P
adopted Non-Alignment Policy in Tt 7 7 B AT s )
reference of military groups. m fUsa G a9 | drenfray siiw smiker

I Inrecent years, technology and Indian ¥ T STfaIEIfo a7 91 St FI
- American diaspora have brought the ToeE o T 2
two nations close. T-I'E?l'lﬁi’ oS

Choose the correct option - -\q:; ar;m_\qgsr T 10 T &

(1) [Iis true and II is false , . -

@ 1i : 2 I7Tad 90 G 8

is false and I1 is true . :

(3) Both I and II are true (3) 139 IL N %l &

(4) BothIand II are false @) 19 I <Ff e &

23. Match the following - 23. ffaRea o e o -

(1) Spirit of Laws (a) Maciver (1) PaRe 3w df (a) HPER
- (2) Federalist (b) Montesguieu (2) BRfoe (b) rﬂéﬁg\

(3) The Modern State (c) Madison 3) T HEls we (©) I

(4) Considerations on (d) J.S.Mill @) oRewEw  &F @) TH, e
Representative ﬁﬁ'\ﬂ'é'%& TTRfe
Government 3
1 2 3 4 1 2z 3 4

Mb d ¢ a @ B _Bd| cN .8

@b ¢ a d e AN A

®d ¢ b a I AW B

@ d c B i @ d C a_'b

24.  After Independence, universal adult franchise 24. Yad=Il UL MRT # TG Uik 7 wdHm
in Indian electoral process was first used in - TARBR: B HageRT WO far T —

(1) Punjab (2) Rajasthan ) GemeF @) e

(3) AndhraPradesh (4) Manipur (3) g Uy A @) qﬁrair 1

25. According to Kautilya ‘Bhayopadha’ is - 25. @ifeey G IER AT §

(1) A type of soldiers Q) I FT @ TR

(2) A tax collection strategy 2) T TFAIRT B FHRANR

(3) A way to control ministers @) #HEF W ﬁi’{F;rUT P t—ﬁﬂaﬂ

(4) A policy related to other states @ TP TR ey Hify

26. According to Mayer and Salovey, whichone of 26. #9¢ 3R daldl & ITER, HIFTHD 5@ E2l
the following feature is not included in the g # et # @ PR 31'&117{ Edl
definition of emotional intelligence? wfiaferg ==t fFar T 87

(1) The capacity to perceive emotions (1). NI GBI By Har

(2) To control emotions of others ) gg\q-q} & A B e

(3 To integrate emotions in thought @) I o1 AR § e

(4) To understand and manage emotions @) W T T e

12- @ Page 6 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

GET IT ON
Google Play

27. Match list - I with list - I and select the correct  27. < — I &1 I II'\ﬁ e Bifeg den w8l
code - 6T DI "I
List-1 List - IT I -1 & -1
(Provision)- (Article) (aTeErr) }‘;E??)
(a) State  Election (i) Article 243 (@ @ fEREE @)
Commission -K STTIRT 243 -¢
(b) Powers of (ii) Article 243 (b) ROTfeTT (ii) ‘aﬂ?é'q" 243
Municipalities etc. : W anfe o widai
(c) Formation of (iii) Article 243 (c) TRUfcI®El &1 (iii) a:ﬁs?sa 243
Municipalities -Q Tod
(d Term of (iv) Article 243 (d) TRUHERN B (iv) Hj’ﬂfo?.' 243
Municipalities -U arafey
Code - HE —
1) a-iv, b-iii, ¢c-ii, d-i 1) a-iv, b—iii, c—ii, d-1i
2 a-i, b-ii, c-iv, d-iii 2 a-i, b-ii, c-—iv, d-iii
3) a-i, b-i, c-iii, d-iv 3) a-i, b-ii, c—iii, d-iv
4 a-ii, b-iii, c-i, d-iv 4) a-ii, b—iii, c—i, d-iv
28. In December 1991, which republics declared 28. fR¥ER 1991 # <ifdwd Hg o wfa &0
that the Soviet Union was disbanded? BIYOT BT diel TORSY & —
(1) Russia, Ukraine, Belarus (1) &4, b, Jred
(2) Ukraine, Georgia, Estonia (2) IHE, ST, TReE
(3) Ukraine, Belarus, Georgia (3 ol dared, SifferT
(4) Estonia, Russia, Georgia @ v, w9, St
29. BAMCEF stands for - 29. BAMCEF ¥ A< 8 —
(1) Backward and Minority Communities 1) SHIS TS HARAMNRS  FHGFCN
Employees Federation TGS BENeH
(2) Backward and Minority Cultural (2 SHgs TS FEAMNE  Hoaxd
Educational Fund TS[BTA B
(3) Bihar and Maharashtra Cultural @) TER (c 7RIS Beave Yo
Economic Forum W
(4) Bahujan Minority Cultural WEHIRE Poavel Tu e
Educational Forum @ WE C
30. Which of the following concept does not 30. FHifad § W FF W Rigra <ier § W@
belong to Plato? & 87
(1) Noetic men 1) Sfes B9
(2) Doctrine of invisible hand (2) <I5¥a oI &I g
(3) The golden cord of the law (@) BT BT ol — GEl
(4) The state as an ideal @) TG UG AEH & WU §
31. The correct sequence of the words mentioned 31. TefRrwT # aftfq weai &7 WSl HA F1 &7
in the Preamble are - 1) dufRue, ==, WOdEdn I Bl
(1) Secular, Justice, Liberty, Unity and ThaT 3R srEvedr
Integrity of Nation Q) =, TufRY, @Al W B
(2) Justice, Secular, Liberty, Unity and THar SR vl
Integrity of Nation , () A, wE, GufRE, s @
3 i_n,llnegrg; gtflsl,\t;:g,o nSecular, Unity and TedT 3R SrEvEdT
e e
(4) Secular, Liberty, Justice, Unity and @ T G;T_\r 3%:;;_'[ @
Integrity of Nation
12- & Page 7 of 32
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32. “For a new world, new Political Science is 32. "v& -V fazg & fow U IoEifque &)
required.” Is a statement of - TS B " BT § —
(1) Machiavelli (1) Afdae
(2) Tocqueville (2) eiefae
(3) Laski (3) ARSI
(4) Arthur Bantle @) iR Yoo
33. With reference to the major concepts or 33. <TfiS e gRI U ISHING FTaTRT B
premises of input - output analysis of political e — Frfa Rgeor o wirg sermRene A
system given by David Easton consider the 3T T =g § f=fafag ﬁ?gaﬁ W [N
following points - BT —
1 System I GO
II Load I YN
I Resp';onse Il e
IV Persistence IV e
zil;c;t-the correct answer using the code - FT B AT TR TC T SR AT —
e ~
(1) OnlyI and III are correct o i ) o
(2) OnlyI and IV are correct @) I @ U] %
(3) Only IT and IV are correct @) ®ITITE IV W E _
@) I, IL T and IV all are correct () P9I 79 IV Wl §
@) LILIITE IV i & &
34. Who said, “Congressional government is 34. fFE™ Fal, S (HiUR) WReR Ay
committee government? IRPR 87
(1) Woodrow Wilson @ g@ﬁ e
(2) M. Russell (2) vE 9
(3) V. Wright 3) & Ee
4 H. Gardner @) v MER
35. A federal system with a strong central 35. YRg & dfu § Ue OIGd b Gl
government in the constitution of India has HURAD Al ol T 8 —
been borrowed from -
(1) The American Constitution (D) RS & e 9
(2) The Canadian Constitution () FEI S \REE A
(3) The French Constitution 3) w9 b GlEE 9
(4) The Irish Constitution (@) IRRdE B I 0
36. In which model of the international system of 36. Wic< ®Ua & AT FaRT P
Morton Kaplan, each state is equally powerful? Hies ¥ Ude NNy 99 B I wfeawirer 27
() T aee =aen
(1) The Balance of Power System (2) Y SRR
(2) The Universal System (3) Fofag eraen
(3) The Hierarchical System @) THE FRER aaver
(4) The Unit Veto System
12- @ Page 8 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

GET IT ON
Google Play

37. Which of the following statement is correct 37. Tifha FeMl & q ST FUH IORAM &
about the powers of the Governor of Rajasthan? STl BY fkTal & g8 H Hal 27
(1) He cannot dissolve the assembly. (1) I8 [T | A8 B9 TP )
(2) He cannot issue ordinances. (2) U8 IEURY SN 8] BY GehT |
(3) He cannot nominate members to the (3) @8 feren § wewl @ 99
assembly. 81 B G| i
(4) He cannot remove members of State @) I TST F JdT AN B TERd
Public Service Commission. T8 T TP |
38. Which one of the following statement isrelated 38, =iieiRaa # & Firar oA Rwr =S
to Educational Psychology? Y G B
(1) It is a normative science. (1) I8 & Frame e &
(2) Itis a perfect as natural science. (2) IE Uplas &A= @1 T¥E gl 2|
(3) It is a pure psychology of science. (3) U e #1 gg wEm 2
(4) It is a science related to teaching and @ uT Bror @ ol § 9w
learning. g &
39. Who among the following has given conceptof 39. ¥orifa & “faglg faEra” & uron fFes
“Pure Theory” of politics? e
(1) B. Jouvenel @ 9 g
(2) Jurgen Habermas (2) T EREN
(3) Arnold Brecht (3) oFes s
(4) Meehan @ drEE -
40. According to liberal theorists, what is the just 40. SIRANRHA! &+ IFTAR, SFFAAT b1 WA S
way to eliminate inequalities - AT g S BT YT RIS § —
(1) Free and open competition (1) s 9 el GRS ;
(2) A written and rigid constitution (2) feRea g wer wfdem
(3) Stable government (3) ReR WeR
(4) An educated society @ Prigm gEs
41. Read the following statements carefaily - 41. T TRl @1 s 9 Uley —
I  The Socialist party was established in 1 wweifere urdlh o zemoer 1952 g8 1
1952. I 38 UE] drbaa § 8l, A 9Aearg
II  The party only believed in socialism 7 favary veady ot )
and not democracy. el fadeu ggeiae —
Identify the correct option - 1) 1989 ad &
(1) [Iis true, It is false 2) 1o g 0 wE 8
(2) [Tis false, Il is true 3) I’ T S a9 &
(3) BothIand II are true @) 141 =H o §
(4) BothIand I are false
42. Which one of the following is not related to 42. f=feifag § § @991 (& AISRAE]
behavioural approach? gftemior ¥ GaRT 85 27
(1) Knowledge is an end in itself 1) ST ST AT W wem &
(2) Belief in knowledge for the sake of .
knowledge (2) 9 & forg o A fawar
(3) Emphasis on analysis of the content of (3) Tt uftsar @) o Fofg @ avg
the decision rather than the decision — g9 & 3=auv ) 96
making process WIFR Rrgr
(4) The main concem is with pure @ g@l s ST Are ¥
knowledge or theory.
12- @ Page 9 of 32
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43. Which of the following is not comectly 43. Fr=foiaa § & S = wd Ivfa =&

matched? g -
{Name of Book) - (Author) (Eqam BT AM) - (a@zﬁ)
1) 2014 The - Rajdeep Sardesai 1) 2014:T SORM — IOEIT TR
Election that S s SR
Changed India . :
(2) Winning  the - Bidyut (2 fffrsdse: - fag@  wbadf
Mandate : Chakrabarty and T sieem @ik SIS
The Indian Sugato Hazra eI BISRT
Experience : Y
(3 Why ° India - Yogendra Yadav @) SR dew? - A AR
Votes? @ T 98k - - yoE Ay ek
(4) The verdict - - Prannoy Roy and (RLIISUBEIRDIT AR 3R
A Decoding Dorab R. EGEER: S IBICICIGI
India’s Elections Sopariwala
44. Who of the following is not the supporter of 44, FHIfFT § ¥ BN ToRAS Wdzdr &I
Negative Freedom? el SEf 27
(1) Philip Pettit @O feferg dfee
(2) Quentin Skinner (2) wfes e
. (3) Hobhouse (3) EigEe™
§ :—\(f.‘_). ‘Ismah Berlin @) SERE T
45. From the-following select the group having 45. WHH® @dvell A6 9YE Bifley —
Federal System -
(1) Canada, India, Australia, Argentina (1) AT, ¥RG, SIS, sfoieAT
(2) Brazil, Canada, China, New Zealand (2) A, HETL T, <Eve
(3) India, Canada, Britain, Bangladesh (3) WRA, Hrel, WA, §jvemey
(4) Canada, India, Bangladesh, New S
Zealand (4)  DISI, YR, TR, Yofeivs
46. Which of the following pair is not correctly 46. =it # ¥ BiewT AR T &7
matched? : : f
(1) State represents the - M. K. Gandhi (1) U O E q—q ®.
organised violence T AfeiET v & TRy
(2) State is  an - KarlMarx (2 W@ T - HE§ B —  Blel AR
expression of class aifenfaT &
struggle W AT
3) State is an - Laski @) red o
association of SRR &
associations (4) B mﬁﬁ. Qéf qgﬁ % - W
(4) Stateis priortoman - Machiavelli
47. 'Who among the following is the author of the 47. r=fIRyT & @ o9 Semwa shafefya
book titled ‘International Equilibrium : A T uRfepd TR ot T Uiftltew us
Theoretical Essay on the Politics and SRR ot RyEiReEr
Organization of Security’? T e e T B
(1) Morton Kaplan -
(2) George Liska M q@:{ B
(3) C.D.Bums g; gﬁ @'3‘ %‘5'
(4) Quincy Wright @ fr vee
12- @ Page 10 of 32
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48. Indiaand Sri Lanka both%re the membersof - 48. 9Rd iR sfieiedr S 95w & —

{1) SAARC, SACEP, SCO 1) w, TEUESd, TEaa
(2) SAARC, SACEP, BIMSTEC (2 9, MydIR, FFaes
(3) SCO, SACEP, BIMSTEC @) wadsl, Ay, v
). SCO,SAARC, BIMSTEC @ Tadie, u AR
49. TList the events showing America’s supremacy 49. T%g ¥ sFAIRST & Taa &1 gl drell €EY
intheworld- . iiey — :
(i) Operation Desert Storm G) dfreE S ©F
(if). . Operation Infinite Reach (i) ifEE gawgAEe
(3ii) ~ Operation Enduring Freedom (i) 3fTREE GRggRT wed
. C(“:i) Operation Iragi Freedom (iv) e sq-ﬁ;’; W
ode -
@ Onlyi i T i
) Onlyi, it @) e i il

3) Only i, iii, iv A
E.‘lg i-iiyiii iv (3 @ad i, iii, iv
, , T _ ) @ i, ii, iii, iv

50. “Which of the following is not included in the 50, & fRUerar & Wew # "SEEl Hren &I A

‘Principled Distance’ regarding Secularism? F frifea § ¥ 9t 98 2 -
(1) " State ean interfere in religious matters. 1) g uiffe amel § Ted @R
2) _:Inierferencge of state in religious FHT 2
matters ‘must be 'cot;le‘,rent with the ) oiffs AWel § wed BT BEE
liberty and equality of citizens. TR @ Aoy sl w9
(3) State can, make laws on the basis of T ST =T |
 rationality. i @) T REd D AER W s
(4) State remains nentral in religions

BT <A1 Fopal © |
@) Sy e "Mal § qewel & 8

“matters.
© 51, Which one of the following practice is not 51 YIS Hes & AT § 8iar § —

.fné!udé"d in‘construcﬁ\;é learriiﬁg environment? (1) fspa e
‘(1) Active learning R ) Q) el
@ Collsboration . @) g - R
(3) Multiple persp_ecti\‘;es @) Pt wer s

(4) Controlled class discipline
H
52.  Which one of the following was criticised by 52. fFafered # & {59 U@ &1 s/ = it
Bentham in his work ‘A Fragnient on P e ol e areEET B

Government’?

(1) Commentaries by Blackstone Q) =AHEH B BHENT

(2) Hobbes’s Leviathan (2) wlesd P AT

(3) Bodin’s ‘The Six Books on the @) T B T Rew g9 A\ <
Republic or State Rufeas ok =<

. (4) Grotius’s The Law of War and Peace @ megw o ‘g <f % 4R goe g’

12 @ Page 11 of 32
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53. According to Kaplan’s system theory, which of  53.
the following is supernational actor?
(1} United States of America
(2) India
(3) Iran
(4) NATO

54. Correctly match the following books and their 54,

authors using code given below -

(Book) (Author)
(1) Politics of Scarcity (a) Rajni
Kothari
(iiy Caste in Indian (b) Myron
Politics Weiner
(iii) 'The Modernity of (¢) Paul R.
Tradition Brass
(iv) The Politics of (d) Rudolph &
India Since Rudolph
Independence
Code -
@ (i) @) v
A b a d c
2 d c b a
@) b a c
4 d a v

55. In which of the following options Supreme 55.
Court directed Election Commission to provide
NOTA option to the voters?

(1) P.U.C.L. vs Union of India (2013)

(2) Navtej Singh Johar vs Union of India
(2018)
(3) Vineet Narain & Others vs Union of

India (1997)
(4) P.U.C.L.vs Union of India (2001)

GET IT ON
Google Play

e & 9 R woasat & —

(1) g I F@ARBT

2 9Rd

(3 =M .

4 rer

ot gl 91 S9a oEadl BT el

e Fifvrg —

(gwe) . (cram)

G difefeaa AF (@) oI
IR (@R @t PIoRI
RIS ETi))

(i) ®Re TI SRIT (b) WRRA
diftRes (IR, CIEH

TSI | Sifer)

(i) T HAFH o @© d
ofeem (T R,
S frepe) Ik

Gv) T difalRew 3ifs ) v<iow

FEITH
7T —
© (1) (i)  @Gv)

1 b a d c

2 d c b a

3) b a C d

@ d a c b
frfoiaa ol § @ g § waten e

q fiEfE oW & Aier (NOTA) fiswe

HagTEl Bl Sueiel BRAF &g PR fmar?

() Sgdivd 9 geaa e sfear
(2013)

(2) e Rig SieT T gaae ot
gf$ar (2018)

() & TR @ oM W gieae
3ife SReaT (1997)

@) digHvel s g offe SR
(2001)
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\ss.

Match List - I with List - IT and select the

56. A — 1% Al — M9 Fa diog iR &Ry

correct answer by using the code given below - MY HT # F e IR BT 999 Biog —

N\ List - 1 List - IT T -1 T~
(2) Primary Election : (i) Charles E. (2) UG gdeEE (@) d@ew S
A study of the Merriam U %ol A% T aRTH

History and e s
Tendencies of recar Gl 3w
Primary Election s ' SO
Legislation o
(b) Thg ‘ Nature of (i) Robert Dahl b) & FR  olfE () e SEe
Politics o
(©) ;‘he ' Decline of (1) J. _ D. B. © T RIeET ofF (i) 3§ &
olitical Theory Miller Hpe Y Rree
(d) Preface to (iv) Alfred )
Democratic Cobban @ fvw g Smes (v) wwbs
Theory SR Bl
Code - oL —
(1) a- (i), b- @), c- ({v), d - (iii) (1) a-(i), b (1), c—(iv), d — (iid)
(2) a-(i),b-(ii), c- (iv), d - (ii) (2) a—(i), b-(id), c - (iv), d - (ii)
(3 a-(iii), b- (i), c - Gv), d - (D) (3 a—(ii), b~ (@), ¢ - (iv), d - (i)
@) a-(@),b- (3, c- ({v), d - (iii) (4) a-(i),b- (D, c—(@v), d - (ii)

57. Who among the following used ‘Congress 57. fifaiReq # & fham WRdY <ol@ =gaxen
System’ terminology in reference of Indian 3 Ty # PG TR YREl BT RN
political system? e 87

(1) Morris Jones (1) iR =

(2) Rudolph and Rudolph (2) TEIH US SeIH
(3) Rajni Kothari (3) <o POR

(4) Paul R. Brass @) dfta aR =

58. 'Which of the following is accepted as Lohia’s 58. F=ifcriRae d 9 fow aftw @ wdaar &

theory of freedom? fgra & 99 § WIeR & s 87
(1) Theory of internal freedom (1) onidRe w@a=ar o g
(2) Theory of total efficiency 2) '\q:q\nf TG] bl g
(3) Theory of social freedom () MRS adsar & g
(4) Theory of self - evaluation @) @ — qiH BT g

59, Which of the following functions is not 59. +Rq @ Wfder &I 1241 RN # Fr=tieRaa
included in thf::1 912‘*’ Schedule of the ¥ ¥ B B wifie FE T MU $?
Constitution of India? ST & . .

(1) Land use regulation and building @ 1 o AT
construction ) <feET al

(2) Fire fighting services . . .

() Affiliation ~ of  the educational (@) Fueor st 1 Hagd
institutions (4) T — GG BT GOlEHRol

(4) Registration of birth & death

60. How long is the term of Judges of the USA 60. 3RR&I ¥ wWaled <IMIe™ & ~URENRI @l

Supreme Court? PG BIAT § —
(1) 9 Years 1 9d
(2) 20 Years 2 2079
(3) Lifelong (3) Sited W
(4) None of the above @) Tﬂﬁﬂﬁ # B8 T8
12- @ Page 13 of 32
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61. Which of the following statement is mismatch? 61. 57 # & BT B 90T &7
(I) Social Justice a - F. A D) wEivie =™ T — W &
worthwhile Idea Hayek e R BOP i
(2) Justice is the equitable - John Rawls 2) < RIfAE awgeli B — WiH -\f‘f-c,—\q
distribution of et freor '
~ Primary goods (3) IRPRTE HFT B — Mgw
3) JI'JSI'.ICC as a Remedial - Michael w7 § = '\ﬁ@?[
virtue Sandel @ Tm B ARERE - e
(4) Entitlement theory of - Robert A e
Justice Nozick
62. Consider the following statements mentioned 62. NG WM © = 123 ¥§ daftig
in Article 123 of the Indian Constitution - Fr=ferfag oMl w faar ik —
I President has power to promulgate I ooy o 9ue & fosiftees #
ordinances  during  recess  of SRS YT B ) Ifad 2
Parliament. I 59 g®s & afiF i aeare
II  An ordinance promulgated under this H7 981 91 iR T919 BN, § §EE &
article shall have the _same force and SR 31 g ¥
effect as an act of Pa.rllame.nt. I ¥ epardy Uy TN e @
III  Such ordinance may be withdrawn at
any time by the President. W A TR S
Select the correct answer using the code - G FT AT R Y W IR P -
Code - & -
(1) Only II is correct () Fael I & &
(2) Only Il is correct (2)  $oel I WEL &
(3) Only II and III are correct () @Fal SR M e &
(4) L Tiand I alf are correct @ LI 3R I 54 @&l §
63. When was the United Nations Peacebuilding 63. HI&R IS T AU SRFT 9 I Hq
Commission established? ge?
(1) 2005 (1) 2005
2) 1999 2) 1999
(3) 2001 (3) 2001
@) 2007 4y 2007
64. Read the following statements carefully - 64. =1 Ir@l & &aF 9 uley —
I On 19" March 2003, the US launched I 199 2003 B SFRST 7 TF W
its invasion of Irag. =1 BWen |
II 20 countries joined in the US - led I RS sFEmE o “eeerEH
“coalition of willing.” & AT § 203w 59 e |
Il The UN did not give its consent to the oAt o)
operation. _ I |y TSET A 569 59 D JrgAf
Choose the correct option - a5 & o
@ I T fawe TE=Y —
(2) TandII @ I
(3) IIandII 2) Igim
@ LI, (3 I9IO
4 LILII
12- @ Page 14 of 32
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65.

Which constitutional amendment act inserted  685.

the word ‘Sovereignty and Integrity of India’ or
in Article 19 of the constitution?

1 42™ Amendment

(2) 44™ Amendment

(3 16" Amendment

4) 38" Amendment

664 In the context of Cold War, Mutually Assured  66.
* Destruction (MAD) is related to which of the

Y following?
*(1) Principle relating to a military strategy
*(2) Subsidies and sanctions policy
(3) Economic blockade theory

aﬁ?@—q'wﬁﬂﬂwav"rmgmaﬁ?amwm

g B SiaRnua far e

@O 427 |eEE

(2) 447 FEirE

@) 167 TemM

é‘n(ﬁg gglﬁﬁmwﬁa: ERRTEINY

() &1 Hey Fr=forRaa 5 9 2?

(1) T AFF IR 9 HeRa Rgia

() wfas ok ufoemy o

(3) anfie Aree<l &1 Riegr

@) e Ao $ TYIR B B9 A Th
wifaa

(4) A soviet plan as response to the T
marshall plan
67. According to Aurcbindo the comrect 67. 31‘\’@3 & AR G P} ARAT § —
interpretation of Nationalisin is - GUEESII I TF R
I Rationality II  Creed 111 SER F A IV AREad
Ol Voiceof God IV  Materialistic S Repeq & —
Choose the correct option - (1) el I 3R I
(1) Only I and I 2} @ael I 8l I
@ Oyland 3 e 1M
nly I an :
() Only Il and IV (4) e I AR IV
68. Use of Teaching Learning Material during 68. Tr107 & SR f¥w1or — SEFM AFElT &7 waT
teaching helps a teacher in - Rers o wgTa w=ar § —
(A) Motivating learners A) Rrmft o afmla o= #
(B) For longer Retention of information (B) I B 4 T TF HR B 7
(C) Organizing learning experiences (©) SIRNTH T BT ARG F A
(D) Facilitate holistic learning (D) T ST TR E
(1) A,BandD (1) ABTD
| (2) A, B and C (2) A’ B -Q—q- C
| () Heg (3) B,C T D
@4 A,B,CandD AB,CTID
69. Who suggested to 'American policy - makersto  69. GT*}TREI% ARy Frafemi B T B o Rl
“Bxercise self - restraint while achieving P YIS W §Y SONITH qWeA” P qAs
national interest”? e T o —
(1) F.M. Padelford QO TP T Ysowie
(2) Joseph Frankel (2) CRE B
(3) Stanley Hoffmann (3j BWael i
(4) George Kennan @) <ifet
70. Which of the following statement is not correct 70, gftharcHs <™ & dgd ¥ F=ifea § 9 @9
regarding the Procedural Justice? a1 B 9EY e &7
(1) Procedural Justice supports the market (1) uRbaTHD O IR — SRy
economy. i
2) It assumes that every individual has T TR TRl § L
@ responsible for hislhg position. @) wa% @ s Rufy & fag
(3) Every individual has individual SRS B B
entitlements. (3) ™ T & UG ARG shaisal
@ P_roduction and Distribution are BT ¥
different, 4) werEd oR faaer B §
12- ® Page 15 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

71. Which one of the following is not a stage of 71. fr=ifeTRag & ¥ BN v aifledT grr aftfas
Political development described by Organski? SIS 9o Pt eraRem J8] 27
(1) Politics of abundance (1) & o aeEkr
(2) Politics of Industrialisation (2) SENReTERoT #T IoHE
(3) Politics of Modern Unification @) P e B R
(4) Politics of National Welfare @ I @B BT o Ty /
72. Which one of the following steps is not 72. Tr=ifoiRea # & F=wr g womel Sy A
involved in a system approach? wffera 81 87 Y
(1) System software (1) voTel diredaR ¥
(2) System analysis (2) yuitel fagergor
(3) System design and development (3) YUl wuver i e !
(4) System operation and evaluation @) v Brar ek B\Rﬂ'cb_rf
73. Who among the following coined the term 73. fr=fafga & @& foem dgqite ek
‘Children of Light’ & ‘Children of Darkness’ feFTRarsl afdwdl & forg ‘gdre @ Har
for democratic and totalitarian forces? 3R ‘3EHR B SO ueey R e
(1) Woodrow Wilson (1) I=U e
(2)  Quincy Wright (2) f&=0<ge d
(3} Reinhold Niebuhr 3) QT‘IEXI_QE -,-_ﬂ-gg-q
(4 Georg Schwarzenberger @) <ifsl AR
74. How many national parties contested in first 74. 9Ra H WM <liee™r go@ 1952 F faem
Lok Sabha Election of India held in 19522 ICERT gat - 90T foram en?
@ 12 2 13 1 12 (2) 13
(3) 14 @ 15 3 14 @ 15
75.  Use the code in order to match list-I with list-Il  75. -1 T A1 ¥ e SIQ T e &1
give answer - TANT B §Y 9al SR Y —
List-1 List - II & -1 -1I
(Phrase) (Thinker) (Teee) (
(a) Polyarchy (i) Benjamin (a) TgeIdd @ 9
Barber CICH
(b) Dictatorshipofthe (ii) Tocqueville (b) dgHd B (i) <lple
majority GIBINIGE]
(c) Weak democracy (ili) Robert Dahi () T9OIR Aldwad (i) < SBd
(@ Iron law of (iv) Robert (@ TeadA @ AR (iv) e
oligarchy Michels REL] ooy
Code - HE ~
(1) a-Gii), b~(@), c—(ii), d - (iv) (1) a-(iii), b— @), c = (i), d - (iv)
(2) a—(v), b (iii), c - (i), d - (i) (2) a-—(iv), b~ (ii), c — (ii), d - (i)
(3) a- (i), b— (i), c — (), d - (iv) (3) a-—(iii), b (i), c — (@), d — (iv)
@ a-(,b-(@v), ¢~ (i), d - (iii) (4) a- (i), b-(iv), c - (i), d — (iii)
76. Which of following pair is not correctly 76. ife & & Prrar I gAfera w1dl 87
matched?
(1} Fair Equality of - JohnRawls 1) @R @ S — S e
Opportunity AT
(2) Complex Equality - Joshua Cohen (2) wifca @ — SR
(3) Equality of - Amartya Sen Gl
Capabilities @) wred @ wEa - o O
(4) Equality of - Dworkin (@) FEEAEl B WAEA - gdfe
Resources )
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7. Who among the following called adult suffrage  77. freferfag & 9 TRe FORER B FUS
“Vast spoliation’? o€ B 9T 3 I faRE § —
(1) Lord Macaulay (1) i Aot
(2) M.R.Lackey @) T R S
(3) James Stephen (3) o %A
4) Henry Man (4) %;Iﬁ -a:[

78. When a public official fails or refuses to 78. W& TIE Grduifie yamSR) o= iR
d1scharge his or her designated public or quas1 Foal B Fdes w8l wear serer Fded w1
pubhc duty, which of the following writs is T T BT B, O URG S & argwse
issutd under Article 32 of the Indian 32 & g frefaRad § | siar =
Consiitution to make him/her perform that ) Y 9N USIRIGRT HY o e wder
desigr}gted duty? Frdes & forg enefr forar v 87

(1) Mandamus (1) uEEs

(2) Prohibition (2) wfas

(3) Cextiorari (3) Sa

) Quﬁ\\?:arranto 4) SIEPR Yol

79. “The British Constitution is the father of 79. “fafewr witens el &1 oFe § &R Wfew
Constitutions*& The British Parliament is the WS wEl O S § 1 a8 e e 87
mother of Parliaments.” Is a statement of - 1) TR

(1) Munro (2) ST

(2) Dunning (3) WS
(3) Bagehot @) T TR
(4) Ramsay Muir

80. Maximum member countries of Non - Aligned 80. ¢ FRU& JigiaH & IfErhaH WA Bl
Movements belong to which of the following Frifeed § @ fvg S 9 8°
region? () 3Pl

(1) Africa (2) Tlmm

8; ﬁsia A (3) =T sl
atin America

(4) Europe @ E‘@q

81. Which of the following group of words is not 81. fr=ifera # ¥ S e HHg UHTR oY
coherent with the characteristics of a secular Y fadroeell & gETa T8 57
state?

(1) Peace, Intolerance, Religious Freedom (1) wife, iR, e W
(2) Peace, Tolerance, Religious Freedom () i, ;H'%%T s ae=mr
(3) Hegemony, Peace, Tolerance @) I, Wik, 'ﬂf%‘s{lﬂT

(4) Hegemony, Peace, Religious Freedom @) T, Wi T S I]

82. In which level of moral development according  82. ®IEAST @ IR, Afow @@ @ iy
to Kohlberg, the individual develops a true e ¥ R 3 AT el o Y 9 o
understanding of right or wrong and a true ]
moral consciousness? vd el A A BT A SR &

(1) Pre conventional reasoning (1) Y& — TERET THO
(2) Conventional reasoning (2) UERE TR
(3) Post conventional reasoning (3) U — TRERETE TEON
(4) Non conventional reasoning @) STORERF qE
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83.

84.

85.

86.

87.

Which of the following is not criticised by 83.

Mahatma Gandhi?
(1) State
(2) Varna Vyavastha, :
(3) Sovereignty 5,

-

(4) Parliamentary system

Which of the following pair is not correctly 84.
matched?
(1) Appointment of acting Chief Justic. -
Article 124
(2) Appointment of ad hoc Judges -
Article 127
(3) Supreme Court to be a court of record
- Article 129

(4) Special leave to appeal by the Supreme
Court - Article 136

Consider the following statements regarding 85.
Liberty -

I  Gerald MacCallum defined Liberty on
the basis of the Triadic concept.
I Laski strongly supported Domestic
Liberty.
II  Laski discussed three forms of Liberty,
individual, political and economic.
Select the correct answer using the code -
Code -
(1) 1Iand IIare correct
(2) IandIII are correct
(3) 1I and III are correct
(4) I, O and II are correct

Operation Black Thunder was - 86.

(1) An action against terrorists trying to
capture Golden Temple.

(2) Launched in order to pacify the
agitation in Maldives.

(3) An anti - insurgency operation against
the LTTE.

(4) The code name for the Indian Armed
Forces operation to seize control of the
Siachen Glacier in Kashmir.

A person who fails to get a job in an interview 87.

attributes his / her failure to fate and bad luck.
This type of ego defense mechanism is called -
(1) Denial
(2) Reaction formation
(3) Projection
(4) Regression
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Who among the following described political
culture as ‘a set of propensities and attitudes’?
(1) Lucian Pye
(2) Almond and Powell
(3) Sidney Verba
\(4) Alan R, Ball

89. In which of the following book it is said that,
“\tlge home of my soul is in the state.”?
(L) The State
(2), New State
(3)\ Principles of Social and Political
*(Theory
(4) Laws
90. Which thinker has singled out political culture
as a factor explaining different patterns of
political opposition?
(1) Lucian Pye
(2) G. Alniond
(3) Edmund Burke
(4) Robert A. Dahl

91. With reference to voting behavicur in India,
consider the following statements -
I  Voter’s behaviour is influenced by
socioeconomic factors.
IO Voter’s behaviour is very much
influenced by religion and caste.
IIl At present the voter participates in the
election purely as ordered.

Select the correct answer using the code -
Code -
)
)
3)
“)

Only 1is correct

Only II is correct

Only I and II are correct
Only II and III are correct

92. “Polyarchy” as a model of democratic process
the been expounded by -
(1) John Dewey
(2) Samuel Huntington
(3) Robert Dahl
(4) Karl Mannheim

88. fFaffaa # 9§ 5w ToFike S¥Fpfa &1
Toi e AgRET & R FET &7
O IREE ag
2 amvsaﬁvtﬁaa
O RRGERIRCEN
(4 TeA IR df
89. &9 gw® # ®er ™ T b, W e @1
Ry e s # &7
1 I RCS
2 YwC
3) Wmmwﬁﬁﬁw

@ df
90, SoFlge fRy @ fafte ufowrsl @ <=
TR diel BRE B wY F ASHIRE Gl By

g qrel TR & —

Q) gREw e

(2) il 3FTS

(3) vsHS 9@

@ e T sEa

91. YRA ¥ WOGM WIER & ey # Amferfad

el W) fIam S —

I wagael & @MsR 9miise —
i PRSI § T Sar &

I Aaee B FaeR 99 9 Sifa 9
I5T SIS T B B

I gaqF % gag d #aaar Qo
Mg Y ¥ B 9N olar B

6 BT TANT HR 8¢ HE! SR gAY —

Ec\m'_

(1) Saa 198§

(2 Paa IO 2

(3) Do ISR I HE &
(4) Pad IR TITE &

92, FPAiFE Uhal B UH gEM @ w9 H
“difranesl” (@gd=) &1 uiue= fhar & —
1 SE A A
(2) 9ara sfewes 7
(3) & SEA
@) et RA N
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93. “Political culture is a pattern of individual
attitudes and orientations towards politics
among the members of a political system.”
Who said this?

(1) Talcott Parsons

(2) Herman Finer

(3) Almond and Powell
(4) Eric Rowe

94. Which one among the following book is not

written by Ram Manohar Lohia?
(1) Ranade, Gandhi and Jinnah
(2) Arthshastra : Marx se Aage
(3) Guilty Men of India’s Partition
(4) Hindu Banam Hindu

95. According to Almond, which is not a
characteristic of political development?
(I) Role Specialization
(2) Sub - System Autonomy
(3) Secularization
(4) Sub - System Integration

96. Which of the following thinkers asserts that all
modern states have a monopoly to use
legitimate force within a common territory?

(1) Leon Trotsky
(2) J. Gamer

(3) Max Weber
(4) H. Laski

97. 'Who among the following was appointed as the
returning officer for the “Presidential Election
20227

(1) Secretary General of Rajya Sabha

(2) Vice President of India

(3) Secretary General of Lok Sabha

(4) Chief Election Commissioner of India

98. In which summit of NAM it was talked about
the creation of a new international information
and communication system?

(1) Harare Summit, 1986
(2) Belgrade Summit, 1989
(3} Havana Summit, 1979
(4) Durban Summit, 1998

93.

9.

95.

96.

97.

98. -

¥ orifa & ufd afdrg g
Hﬁg@aﬂwqﬁmﬁ%‘l"%’ﬁmﬁm?/
1) Tl g /
(2) T BEN

(3) aHTS S dfdd /

@ oRE A J

ﬁﬁ@rﬁqﬁﬁﬁﬁﬂﬁwgmmﬁéﬂ S RIES
e grr <R w8 2 7

(1 e, iRl goe [y

(2) e : TR P A

@) e oite gReary uidher

@ R Mg

frefofea § 4 AN Fve & W,
ISHiae faera ot fagmar w8t &7

(1) T faf=iewor

(2) BU — IIRIT Pl Wl

(3) difeam

(4) U — TGRIT THIHGIIT

e 4 @ o9 frores & R,
sy <Al B U e 9 - &9 A §o
RN &6 BT 981 THIRIPR el 87

) foram gicws!

2) W TR

(3) H R

@ TE aRDl

Freforfeaa # 9 59 “asgufer g 2022 &
forg Refiw siffrer & w9 % frgaa fear T
oY

(1) g I P qeMRE

(2) YRT & SURIEHL

(3) FEA B TENERE

() 9RA & &I A T

A D wWed ¥ e A SRSy
@ Tl GUR g @ FEier @ 9 BEl
g Y

(1) =R B g9, 1986

2 Sovs Brer a=eE, 1989

(3) TaET BReR w=ed, 1979

@) =T PFrex 9weH, 1998

T
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99. Whoe among the following is considered to be 99.
the interpreter of ‘Pure Theory of Law’?
y (1) Hans Kelsen
‘% (2) David Held
V(3) Immanuel Wallerstein
{4) A.Giddens

100. ngiéh' one of the following is the 100.
characteristics of Classical Conditioning?
(1), The occurreace of conditioned

% response is. forced reflectively by

_ unconditioned stimulus.

(2) If was formulated by an American
Psychologist Skinner.

(3) The reward is contingent upon the

- occurrence of response.

(4) Reinforcement comes after the
response is made by the organism.

101. According to Article 167 of the Indian 101.
Constitution, which -of the following is the
correct statement?

‘(1) Iiis the power of the Chief Minister to
inform.the Governor.

(2) It is the duty of the Chief Minister to
inform the Governor.

(3) 1t is the responsibility of the Chief
Minister to inform the Governor.

(4) It is the both power and duty of the
Chief Minister to inform the Governor.

102. Consider the following statements regarding 102.
NAM - :
I  The NAM presently has a membership
of 120 countries.
II. 18 NAM Summits have been held upto
now,
I The last NAM summits has been held
at Baku, Azerbaijan in 2020.
Choose the correct option -
* (1) I, Il and IIT are correct
(2) Only Ijand II are correct
(3) Only I and IH are correct
(4) Only Il 'and HI are correct
103. Who among the following was not the member 103.
of Drafting Committee of Constituent
Assembly of India?
(1) N. Gopalaswami
(2) Alladi Krishnaswamy Ayyar
(3) Dr. K. M. Munshi
(4) K. Santhanam

e 4 9 59 wrE & e fgi

BT FRYTBR AFT TAT 87

1) 9 BT

2) =S T

() IAHUA qTeRElT

%@@WW@W E3)

foreryar 872

(1) 19 31 — IFEMEE e BT Al
U 4 "uga 9 @ oy, 9 9%
AT SFfRAT BT e B

(2) UE IARFA =D ResR §RI
IR fam T 2

(3) TR b w® R evar 21

@ "ol & eEfkr W @ SR
e feam St 21

ARG U & I®T 167 & SER.

FrafeRea @ 9 adl wem § -

(1) TSI B TSGR a7 TEIHAT B
o B

(2) NISYUT DI SFHRT AT GEIAAT BT
o B

(3) RISYUTA B SIFHRT 3T GEHAT BT
SRR 2

(@) TSI B FEGRI QT JEIHAT B
Tl Ud ddd ST 2

TeFRug sigies (NAM) & 9g 4 Fmifed

FoAl W faER ST —

I  NAMS ad9 ¥ 120 U&= 9 &

I 39 d% 18 NAM & BRR T®e 8
D B

II NAM &1 sifte Rrew |& e, am,
ISR # 2020 # SIRARTT g2l

|el fAbed gy —

(1) LR OIS €

(2) @aer 1aR Mo &

(3) @aet 1:IR NI HE &

@) o HR 9 §

FriforiReg & & o9 dfte w1 & uu

AR B G5 T8l e

1) T, MU
(2) IS PEERY 2R
(3 <t % g
@) .
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104. Which one of the following is the most 104. Fr=ifaRed § & HF=ar Fem Rry T fIE
appropriate statement about Educational @ Ty § Haite Sugdr 87 /
PSYCHOLOGY? S 1) IE T[RET BT ITIT B '

(1) TItis the study of mental iliness. (2) =z I ftnm uq Sﬂi‘r‘]ﬂiﬁﬁf &
(2) It is the study of leamers learning & ST T L

teaching. 3) FE 9 Wil o I %l
3) It is the study of mtell.lg.ence tests. @) TE ESEEF Hﬁb‘ﬂﬁﬁ - it
(4) 1Itis the study of cognitive processes. 3 /

105. Which article of the Indian Constitution deals 105. 3701 & SR 3BT 19 ® SUEHl BT e
with the suspension of the Provisions of Article RGO & o Glﬂ?z@i?{ # aftia 87
19 during an emergency? @® 3@%@3 358 (2) aq:_ﬁ@—q* 359

(1) Atticle358  (2) Article 359 @) ITWT 352 (@) WS 357
(3) .Article 352 (4) Article 357
106. Inwhich Adhikaran of Kautilya’s Arthashastra, 106. @lWeca & aefarer & forg sifyevo ¥ wow
seven organs of the state have been discussed? P T A B ﬁﬂ?}lﬁ ﬁv‘ﬂT T %?
g; ;ft(l)g(;l-Vrit @ IMFE o1 .
adgunya m@lua TR
@) Kantak S){mdhan g S s
(4) Mandalyoni @) dseE N

107. Which one of the following is the oldest 107. fr=faRaa § ¥ ®iwar o JS=IRy ﬁi@lﬁ

approach of political theory? BT UrENGH SUYFR 1M1 SiTar 87
(1) Philosophical Approach 1) cRiNE SurE .
(2) Legal Approach @) S Sy - .
(3) Historical Approach 3 e SuE
(4) Institutional Approach (@)  Sientie SunE

108. The objectives of E - Panchayats in Rajasthan 108. ol # § — UaR—G & S & —
are -

I To increase .the productivity of I daec oW fm o Sagea §
Panchayati Raj department g

H The streamlining of the internal 0 I Aok vaEst o R
process of the rural development and A saRe AT &1 GeraeiERor
Panchayati Raj department M aEer Rl s 9 a9

HI Speedy collection of rural problems TR
onl ‘

Choose th); correct option - W fadey & — L
1) 110, O @) LI (1) LI I @) I 1II
' (3) LI @ I, TI 3 Lo . ( h 1L, I

109. In which one of the following phase in syntax 109. 3 ed Hisd 31 Ri<aa $1 B
of the advance organizer model, prompt agen ¥ sifEvvedal & a3 3R
awareness of leaners relevant knowledge and aﬂ'qa‘[ B ThI AHEBRI AT 87
experience is required? (1) T SR &1 TR

(1) Presentation of learning task (2) aRrH ﬁm T mﬁm

(2) Presentation of learning material @) fW WTe® B TR

3 Presentatlo.n of'advz‘u?ce organ{zer‘ @) SRR ST BT g

(4) Strengthening cognitive organization : .
12- @ . Page 22 of 32
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410, “Because of circumstances that have now come 110, “aawiy g8 URRfET & sRoT ST — o
\\\ into being that states have become, whether g J UPhIcdd W 8l AT FHP, gfery ¥
*  federal or unitary, welfare states from being q ol PUIGRI ST g5 T & 3N 297 4}
police states and the ultimate responsibility for anis Wgﬁ P AW SReEfg @<
Y economic well being of the country has become TROHR Pl 33[ Tar &
the paramount respensibility of the centre.” IE PUT & —
Who saud.the above Statement? 1) HERME AP BT
(1) Bhlmrap Ambedkar @) AR o Y5 B
(2) Jawaharlal Nehru 3 A& -
(3) T.T.Krishnamachari - L P
(4) Rajendra Prasad @) ST S
111. At adolescent stage of development the 111. & T fheiRraRen # % & 9w § ¥R
physical changes in body proportion in relation ST BT URRE TR e & —
to head is - )
(1) Head becomes one third of the body @) RR R F1 15 fEE & 5w R
(2) Head becomes one sixth of the body (2) KRR TR BT VST 9T & I &
(3) Head becomes one eighth of the body (3) RR INR FT y16a MW & ST &
(4) Head becomes one tenth of the body @) R IR FT Hai 9T B 9§
112. Body language is an example of - 112. INIRE AT IIE0T & —
(1) Verbal communication (1) wfegad |UHT PT
(2) Non - verbal communication (2) afees FYUYT &7
(3) Barrier in communication (3) EUNOT H ARy o7
(4) Media of communication 4) <UNUT D AR B
113, According to John Locke, the state of nature 113. i @l & AJAR, WGP AR BT IR
was governed by - e e & ~
(1) Basic instinct (1) 9 WgRT & §RI
(2) Mutual - cooperation (2) URERE FEIAT P ERT
(3) Religion 3) & gr
4) Natutal law @) R R b g
114. Who among the foliowing is the titular head of 114. fF=IfeTRaT & T BT FIET S TG BT THATH
the Canadian state? W THE 87
(1) The Chancellor (1) AR
(2) The President (2) sgufa
(3) The'Governor General 3) TER SR
(4) British King (4) fafes <o
115. Who among the following said that, “The 115. fa=feiRag ¥ ¥ ag fods Ho= 2, % '\"iflm'ﬂf
whole of Renaissance was in Machiavelli”? AR Afhadet § & 27
(1) G. H. Sabine 1 <7 BiCIER]
(2) H. Laski (2) T TINPY
(3) E.Barker 3) s 9w
(49) W. A.Dunning @) s T Sfh
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116. Match List - I with List - Il and select the 116. @I — I &1 Al — II 9 A FHfoC iR [T
correct answer by using the code given below - TGS H | A8 R BT =TI DG —,
List-1I I List -1 A -1 '\q:;ﬁ_I[
(Name of Booklf_m ; (Author (TS BT ) Grepaca
) Name) 1)
(a) The Process of Eﬂ(i) Robert Dahl @ T TR &w @) ad emEd
Government e
(b) The Governmental (i1) . . D. B. ) = TeeRiTe TR (ii) @f & &
Process Miller
(¢) Who Governs? (iti)) Truman
(d) The Nature of (iv) Arthur $‘.")~ g m?; D) ﬁ o
Politics Bentley @ = S® (iv)
Code - ! diferfeas
1) a- (i), b- @), c- (i), d - (v) e —
(2) a-(iiD), b- (v), ¢ - (), d - (i) (1) a— (i), b - (i), e~ (ii), d — (iv)
3) a- (@), b-Gii), ¢ - (iv), d - (ii) (2) a-(iii), b— (), ¢ — (i), d — (i)
@) a-(v), b - (iii), ¢ - (), d - (ii) (3) a-(1), b-(ii), c— (iv), d - (ii)

117. Which of the following methods were 117. W. UL el o1 oo steeme H for=iferfag # @

employed by J. S. Mili in his philosophical 57 TRt BT T fhar 27
study? - ] o '
(1) Historical and Geometrical 1) MERee SR i
(2) Physical and Historical (2) e 3R Qe
(3) Spiritual and Historical (3) e aliR Ve
(4) Physical and Geometrical (4) Hifae v smfad
118. Which one of following pair is not correctly 118. Ffefem # Siaar ve 3= @ Ffera =&l
matched? %\a'?
(1) Aspects of Political Development : 1) q@m 3 Uiferfesmel STeyde -
Lucian Pye gﬁtrq:r g
(2) The Stages of Political Development : (2) T oy oifF difeifesa Saawie -
A. F. K. Organski N T, U%. &, 3ifiea
3) Comparatl.ve -I’ol1t}cs : A Development @) | Eb_rnﬁfé?{ W%T%W T Sgede
Approach : Sidney Verba i - e aqt
(4) The Challenge of World Poverty : o _
@) T Feiw oifp 9 Wil : R
Gunnar Myrdal : frar
119. Who among the following theorist was used 119, Frafefag & & 5w fgiier 3 sawrsy
constructivist analysis to provide a critique of Heul # FquerRiay iR FaserRag g @l
both neorealism and neoliberalism in Gch‘rﬁTvFIT GrC g—f_i FETEET fAgelyur &7 T
international relations? e
(1) Richard K. Ashley ’”(1)' A &, o
(2) Alexander Wendt '(2) q@rc}ﬁtc','\r LT
(3) J.B.Peterson (3) '\ﬁ gl e
(4) Jon Runyan ' ‘(.4') ST B

sy

12- @ Page 24 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A

5

-120. “The fail of the Berlin Wall marked:the end of 120. "R & dar & iy 9 W W=7 &
the long war between liberal, faséism and HnfHe ey &7 uiRdag B @ 6y Ser,

communism to define the Constitutional form wrilare 3R g=Ee ¢ 99 99 8 |9 G54
3 of the nation state.” Who said this statement? B siq D1 RIited fSar ) a8 s fhaer 87
(1) Francis Fukuyama i ' 1) Wirr HHamE
3 i i =2
(2) Eirikur Bergmann ’ ‘ @) TReR T
3) Martin Lipset , . @) e R
(4) Philip Bobbitt ‘; @) ﬁv’f@{q e
121. Match List - T with List + II' and select the 121. ¥ — I &7 &1 — I 9 37 iy i &y
correct answer by using the code gi\‘fé‘p‘below - TN FHE H H FEl TR BT T By —
List-1 List - IT g — 1 @ — 1T
(Name of (Year of (i <o B (i )
Political Party) Formation) )
(a) Communist Party (i) 1992 (a) YRA 9=EEr (@0 1992
of India (Marxist) - T (ATERaT)
(b) Janata Dal i) 1972 (b) WIFAT &< (i) 1972
(¢) Al India Anna (i) 1988 (c) aRaa ARG (i) 1988
Dravida Munnetra / I Tlds oA
Kazhagam, W
(d) SamajwadiParty (iv) 1964 (d) HHISTAET qol (iv) 1964
Code - he —
() a-(@v),b- (i), ¢ - (i),d - (i)- (1) a-(@v),b-(ii), c— (ii), d - ()
) a- (i), b- (i), c.- (v), d - (i) (2) a- (), b- (D), ¢~ ({v), d- @)
(3) a-(iv), b- (i), ¢ - (iii), d - @) @) a-(iv), b— (i), c - (i), d - (i)
(@) a- (i), b - (i), c - (i), d - (iv) ¢ (4) a-—(i), b- (i), c~(ii), d - (iv)
122. Match List - 1 with List - II and ‘delect the 122. A — 19 g — O ¥ Fa sifeie ik e
correct answer by using the code given below - I HE H Y el SR BT 9T P —
List - I List - II & - I T - 11
(a) Scientific Value (i) Arigstotle (@) dsiiE T - (@) INE]
Alternativism ‘ AreTaTe
is a Architectonic ‘ TP Sregeeer
Science “f Fierg 3
(©) Poii]txcs is .th.e‘ Art (iii) Charles B. © <R wETE i) e 9
d) gﬁitfczﬁssé?;};tti);m (iv) E?fgﬁi B Pl & &
( are an Army of Brecht (@ SIS - fasri - Gv) SITeS
Polyglots . 3;_\;%” At &t s
Code - -
1) a-(),b-(@i),c-@{v),d- (i) i Sl
52; a- Eiz), b —(ci;, - Eiv;, d- Eﬁig 2 (1) a—(),b- (i), e~ (v), d - GiiD)
@) a-Gv),b- (i), c- (i), d - (i) i (2) a—(iD), b (), c—Gv), d—(iiD)
’ ’ ’ o 3) a-(3{v),b- (), c- (i), d - (iii)
@) a- (i), b- @), c- (), d - (v, E @ a—(ii), b— (i), ¢ — (ii), d — (iv)
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123. Who was the Chief Minister of Rajasthan when 123. oReis # 734 ©d 749 <fum <eiem

124.

the 73" and 74% Constitutional Amendment
Act was implemented in the state?

(1) Haridev Joshi '

(2) Shiv Charan Mathur

(3) Bhairon Singh Shekhawat

(4) President’s Rule

Assertion (A) : National Integration is a
psychological and
educational process by
which the feeling of unity,
feeling of equal citizenship
and love for the nation is
developed in the hearts of
all the people.
National Integration
Council was established to
establish national unity and
spread the spirit of
nationalism.

Reason (R) :

@)
)

3)
@

Both (A) and (R) are true and (R) is the
correct explanation of (A)

Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(A)is true and (R) is false

(A) is false and (R) is true

the modern state on a factual basis, which of the

124,

125. Christopher Pierson gave eight main features of 125,

B o

ARTR&Ar BT 3gHa SR
I B AT U B FiEaen
?ﬁiﬁﬁﬁﬁv_mm
|
BRI (R) : AT UHAr eI
He dRI TRl Bl
T & TR 3G T
THar URYG &I RJMUAT
P IS |
() =Ff(A) T (R)WE € @1 (R), (A)
P TS I B
@ =F (AT R) T E WG R), (A)
P Fol AT TS B
(3) (A) W & 3R (R) Ted &
@ (A)7eid g 3R (R) & &

oy RIS 7 TeaeTd SR UN SRy
I DY MG fARINEN Farg, e d 9

following feature he did not discuss? e fAewar 9 == S99 9381 BI?
(1) Sovereignty @) Har
(2) Citizenship (2) =R
(3) Control over the means of use of force @) T TN & 9RFET 9”9
(4) Fundamental Rights @ o AReR
126. Who wrote the book ‘The Nadars of Tamilnad: 126. ‘T @Igd 0% dferre : § difeild®dd Heer
The Political Culture of a Community in A ¢ FRIFE 39 O gwae fhem fordl
Change’? 27
(1) Robert L. Hardgrave (1) =M< T B=dg
(2) Christopher John Baker (2) Tremy §F 9ax
(3) M. S. S. Pandian (3) TH. U9, UH. Uifeus
(4) A. R. Venkatachalapathy @) U AR Jsegei
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127. According to Piaget’s cognitive theory of 127. fyumsi & HeHeas faen Rigra & o9R,
-development, the learner’s system of mental afrEal &AMk Thae e el &
operatiohs has reached a high degree of ﬂm Lery qga STy %\l IE TR & —
‘equilibrium. This stage is - (1) sioaRe fhars
‘(1) The formal operational @ W ﬁﬁm—qa;

¥y (2) The pre - operational @ = ﬁ,—qﬁ.ﬁ;
(3) The concrete operational @) TS
. @ The sensorimotor i
138. Which"of the following is not included in the 128. FrafiRad § ¥ @9 <. v A9 gN 9O
! ‘Sanction of Utility as mentioned by J. S. Mill? T ST @Y Arsi ff |ffo == 87

(1) +Physical (D Qnﬁﬁaﬁ

(2) Moral @ e

(3) Public ) udeh®

(4) _ Economic , @) e

129. Which of the following is recognized as the 129. WRT & &34 Ir<iol § 929 3N Fgd
‘first.-most prominent movement’ among the arpaa] RIGT & WY A Ugdr Sl § —
fegional movements in India? (1) IR ARTACE IS

(1) Greater Nagaland Movement ) e TERY areE

. (2) Narmada Bachao Movement (3) cfie e

(3) Dravida Movement @) I TR

(4) Bodo Movement

130. According to the constructivist view of 130. dEMwE® & FAfiREE gfepior & VR,
Vygotsky, a technigue that involves changing IR B ﬁ'vl";' WERAT & &R § yRads @
the level of support for learning is called - HAfTT v B 9FIE FeA! & —

(1) Thought processing 1) feEr ufem '

(2). Thought reversing 2 FER yREdE

(3) Zone of proxnnal development @) TR RPN BT &

131.. Considér the ,foll_owingﬁ statements and select 131. f=ifda ?EQFﬁ R R Fifsg sk 9 fou
the correct code given below - e HE Dl YR —

(I) Christian Bay described behavioral (D THREEs 9 9 IJEERa! IoHI
Political science as a distasteful and fem @ o sofues 1@ ARA
duli Political science. NG REEICEEGIE

(I Value neutrality means not to examine (D) o FRUe@r. &1 3 TS
any -political subject from subjective Siean 9 foed werifis fawm o0
point of view. RGO TE BRAT B |

Cede - we —
< ¢ (1) Only (D) is true: (1) Pae D EY §

£2)* Only (II) is true 2 Bga A)¥TH B

(3) Both (I) and (II) are true 3 OUE ) IF wF E

(4) Both (I) and (IT) are false @ @TF () S /e &

132, Who said “The pure idea of democracy, 132. “WiHos B IRWW & IR T g

: according to its definition, is the government of far og & % w9 QA &1 o gRT 'E e
the whole people by the whole people, equally WY ¥ U T g
represented.”? . {1 o=@ &1

(1) Laski (2) e folas &1

.(2) Abraham Lincoln- (3) <. wE e @

3) J.S.Mill :

(4)_ Garner * @) T
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133.  Assertion (A): The concept of territory of 133, P (A): UYRG & g — &7 B
India is broader than that of HeHT RA™G 9Y 9§
the Indian Union. e sy 2]
Reason (R):  In the territory of India, the BRI (R) ; YRd P ST — &§F ¥
territories of the states, the TN F T-8F, 99
union territories and such A — &F T VY g
territories as may be — &5 < sk fre i,
acquired are mentioned in 1 Suwm oM @
Article 1(2) of the . ,
Constitution. \’ﬂ'ﬂ?@?{ 12 fr e T
Choose the correct option - &l
. & fawes B gihg -
(1) Both (A) and (R) are true and (R) is the (1) BT (A) T HROT (R) TFT T &
correct explanation of (A) W (R), (A) BT W€ SreT % !
(2) Both(A) and (R) are true but (R) is not @ %ﬁ ((ﬁ)) ?g%lgg :é’r ; .
the correct explanation of (A) (3) HF (A) T & % R (R) Bl
(3) (A)is false but (R) is true @) B (A) T PR (K) NP
(4) Both (A) and (R) are false ¥ )
134. “Self Respect Movement” was started by 134. "I aia oo Ry iR o9 a9
whom and when? far T o?
(1) Jyotiba Phule - 1872 (1) ifdEn g — 1872
(2) E.V.Ramaswami Naicker - 1925 2 3 9 TIrEE AR — 1925
(3) B.R. Ambedkar - 1930 3) & IR dSHFR — 1930 '
(4) Pandita Ramabai - 1915 @) dfsdar WmEE — 1915
135. According to Jawaharlal Nehru, ‘Religion’ is - 135. STaTeRela 8% & S[J4R, &F & —
(1) Divine consciousness of human being (1) "™ P faeT g .
(2) Intellectual interpretation (2) dilge =meEn !
(3) Virtues related to internal life of an 3) e & sNiaRe e J d9ERg o
individual . ‘ @ sEsnS giemo .
(4) Unscientific viewpoint )
136. Which of the following statements is / are 136. f=ifea § § BN w1/¥ FoF wEEla &
correct about ‘Superpower’? IR H H8 2 /37
(D William Fox was first used the term (D fferss ®ied gR1 9gel 9. 1943 &
‘Superpower’ in 1943. FUWUER' TeE BT SR fbar T
() According to him, The United States, o |
The Soviet Union and The Britain were (D) ST IR, g o GTQ'REET,_
superpowers. A e SR B e &)
Choose the correct option - . '
(1) Only (D) is trug and (II) is false el 1 BT T T —
: : (1) aa ) we 8 ik () Toa &
(2) Only (IT) is true and (I) is false _
(3) Both statements are true 2) W () ¥ T SR () T F
(4) Both statements are false 3 Eﬁ‘f FFTHE T
@ <Nl T o & .
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137. A cooperative learning approach in which team 137. weaRfl affrE Surm R HE & WeW
members work on content that has been broken AT H o ﬁm R B B & | e
down into parts. Each team member is &HT UUs IS TP 9N & o0 StRER 2]
responsible for a part. Members of different = ¥ @& e RN S Y BT ue
teams who have studied the same part convene, 2 o S9eT vaor, uReal oxa ¥ &l
discuss their part and then return to their teams, R o TE ¥ dleaR o WE B o
where they take turns teaching thei}' part to T BT YN 4T BT P HEN § 98
Z;h-er team members. This approach is known SO TR Y —

(1) Learning together 1 N

(2) Group investigation (2) o

(3) Tigsaw classroom (3)  ToTat (STrT). et

(4) Cooperative scripting @) wEdrt e

138. Which one among the following characteristics 138. #f%amaell ® Riva & sy ¥ F=fafaa ¥ 9@
is incorrect regarding Machiavelli’s thought? DT B et &2
(1) He propounded state craft theory. M Su Tl Rgra uakoka
(2) Enlightened tyranny is necessary to tie e
corrupt people into the thread of (2) 9=< AW Bl AT D q H e B
governance. o0 Ugg eaas awd B
(3) In principle, the republican system is 3 Rsraw TOEEE IWEH YOl
not the best. warad T8 g
(4) He was fierce critic of the condottieri (4) 98 dieew TEaRn ® HN
system. R RICER
139. Consider the following statements and select 139. F=faRed $eml w® fdar Fifow e =
the correct code given below - f%q TEl HE BT FIT DI —
I  Charles Edward Merriam considered %rrg\zf TSge ARYY WERRFTT ST
traditional political science to. be dry, s @1 s, Sfymie, dmefe,
formal, animal, barren, ghostly and o, Uaad R Wifte AT o)
Statige ) ' I ded 5 g — uihawel & Brde
II Bentley established a tradition of 7 TR S|
examining group processes. 7e -
Code- 1) et (@) T 3
(1) Only (I} is true
) (2) el (W) §F B

(2) Oniy (IT) is true

(3) Both (I) and (II) are true 3 O A IE FA E

(4) Both (I) and (II) are false @ @ vd (D < e #

140. Read carefuily the following statements - 140. =7 =T &Y qfey —

I. Aricle 329 is related to bars to I erme 329 fafodm  amer &
interference by courts in ‘electoral SRS B ERGeY B ol 9 WaRa
matters. zl

IL. Article 329 A was omitted through the I 44 § <fem oM gNT ey
44" Constitutional Amendment. 320 % &I e Fw & T

Choose the correct option from the following - =1 % ¥ 98 Resy &7 999 BT —

(I) Only statement I is correct (1) &g P29 1 98 &

(2) Only statement I is correct () ad P9 I G& T

(3) Both statements I and II are f:orrect (3) <E BT I vd I ¥

(4) Both statements I and II are incorrect @) T B I Td e e
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141. What is the procedure for appointment of 141. WYa <o¥ IWRGT H HUE —ARUIAD]
Judges in the Federal Judiciary (Supreme (Gooaw =maer) § =Rl @ Ayld
C((il)m)NOfth'e[i'SA"7 by the: President and e 8 — R N NN

omination e: President an .
approval byy the  House of ® &I @ Al
Representatives &N gfe
(2) By the senate through collegium (2) DARTTT FTERNT & AEH | WHC
system Ikl
(3) Nomination by the President and ITEhhY e TRl
approval by theySenate 8; e ETT et Q\;ﬂﬁgﬁ&m g
(4) Both nomination and approval by the
Senate

142, With reference to Aristotle, consider the 142. 3% ® g<d d§ fefaRaa w=sm@el ar

following terminology or doctrine - Rigra W) R s —

I  Form of the triangle I  ®¥ 3% § SN

I  Moderate democracy I <99 aFas

Il Docirine of forms m sSiffes &ifw B

IV Doctrine of golden mean Iv W weee &1 R
Select the correct answer using the code - HT P TAN B §Y WA SR YAY —
Code - e —

(1) Ounly II, ITI and IV are correct (1) DI IL I 8 IV ¥8 &

(2) Only.I, IT and IV are correct (2) o LI SR IV 981 8

(3) Only I and IV are correct (3) Paa O AR IV =T &

(@) Only I and III are correct @) daa MR 01w &

143. Who was the first speaker of British House of 143. fafew @i &1 & uem wigR @19 o7
Commons?

(1) Robert Walpole 1 e T
(2) Thomas Hungerford (2) oiFH BRSPS
(3) Dicey IR

(4) Robert Nozick 8; e Hif®

144. Read the following statements carefully - 144. =1 9194l $ SAFgED IRy —

I The Council of Ministers is I wiPuRys W9 & Ui 9Rs w9 9
collectively  responsible to the ST 3
Parliament. . . -

I The Council of Ministers is an I FRYE WS B T wfafa
Executive  Committee of the 2 3R a8 ¥ue @ il & wu 4
Parliament and it collectively governs Wrfed WY g ST B B
on behalf of the Parliament. wdl Ripey TEaifT —

Choose the correct option - 1) 19T I T &
(1) Iis true, Il is false

: . (2 1@ 90 Ed @

(2) 1is false, Il is true . .

(@) IT0TA 98l ©

(3) BothI and IT are true RN ¥

(@) BothIand II age false @ Ial eld &

145. Which of the following country was not a 145. 1967 # SREM & ou @ g F=fafeaq
member of ASEAN at the time of its formation ¥ W BT I TP TSI 5] o7
in 19677

(1) Indonesia 1)  TvSHRmT

(2) Laos (2) <

(3) Singapore 3) ﬁT’Tfﬂ_\'

(4) Philippines @ el
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146. Who determines the number of Supreme Court 146. 3FR&T § SeemH I@d & ARl 3
Justices in America? T BT SR B wer 87
(1) President (2) Senate (1) <rufio (2) e
(3) Constitution (4) Congress (3) dfder-d @ B
147. Which pair of the following countries is the 147. Fr=ifda <= @& @ RIES]
best example of limited presidentialism? LTS, BT 2T ISTETT 27
(1) America - Canada Q) IFRHT — el
(2) France - Finland (2) W — fPadivs
(3) Britain - Brazil 3) e+ G
(4) America - Switzerland @) i ~ Racordvs
148. The concept of Computer Aided Instruction 148. 'H+IcR HEWH 31"1’3317[ EI% @t fre T g8
(CAI) was invented in which year? ofi?
(1) 1920 (1) 1920
2y 1925 (2) 1925
(3) 1950 (3) 1950
@) 1954 @) 1954
149. Who decides the questions relating to the 149. WG WAUM & R8T 103 B SER, G4
disqualification of the members of the el B FREamel '\'}fﬂb daitrg Ul W
Parliament as per Article 103 of the faffreer B P 87
Constitution of India? 1) fafe smanr
(1) Election Commission (2) HadF <=
(2) Supreme Court (3) <lIpwYr e
(3) Speaker @ <rufa
(4) President
150. Consider the following statements and select 150, fifra HeFi W fdar FHIfve T i kT
the correct code given below - el B BT AT BTG —
() Empiricism is considered the Iast link (D) <o s # BT
of traditionalism in Political Science. RHERMEE &l 3ifd9 B AT WImar § |
(I) John Locke is considered the father of ) e g ¥ St wiip By R
empiricism in the modern era. BT TP AT STl 2|
Code - 7T — ’
(1) Only (I) is true
(2) Only (IT) is true 8 g Eg)_‘q_\:;%%
(3) Both () and (IT) are true
() Both (1) and (II) are false () (DT () S W E
@ OU () 3 o §
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